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Voila la réponse de RMS.



Hi Richard,



Until now, I used the following definition for "GPL-compatible license"

:



If a License L is GPL-compatible, then you can use a code snippet from

program P1, released under the license L, in your project under GPL, and

release the derived work (your project + code snippet) under GPL.



Is this definition correct ?



The more precise definition is that the two licenses are compatible if

you can combine these two pieces of code and follow both licenses at

once.  Given the requirements of the GNU GPL, it follows that the

license for the combination as a whole is also the GNU GPL.



    However, on the GNU Readline website, it is stated :   

    ""Readline is free software, distributed under the terms of the GNU

    General Public License, version 2. This means that if you want to use

    Readline in a program that you release or distribute to anyone, the  

    program must be free software and have a GPL-compatible license. If you

    would like advice on making your license GPL-compatible, contact       

    licensing@gnu.org.""



This statement uses the definition of GPL-compatible, which you have

given above.



    It is unclear whether the derived work must be released under GPL or

    not.



That question is ambiguous and not meaningful.  Your code is under its

license, whatever that is.  Readline is, of course, under the GNU GPL.

The combination of the two is permitted if your code's license and the

GPL are compatible.  Otherwise, the combination violates the GPL.



         But the /easiest/ way to understand this is :

    If a license L is GPL-compatible, then you can use Readline, released

    under GPL, in a problem under license L, and release the derived work

    under license L.



This is not the meaning.



------------

Comme j'avoue ne pas être complètement sûr, je lui ai répondu avec quelques précisions :



Ok. So you can combine your program under license L, L being 

GPL-compatible, and GNU Readline, licensed under GPL. But the 

combination of both HAS to be licensed under the GPL because of the 

requirements of the GPL.



Is that correct ?



So the statement on the GNU Readline website is only about the license 

BEFORE the combination ?



I don't understand why the license before the combination matters. Even

if a program is proprietary, if it is decided to use GNU Readline and 

switch to GPL for the combination, where is the problem ?



Thank you for your answer, I hope you are enjoying your stay in France.
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